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1. The	value	of	the	polynomial (2r−1) at 	 r=4is
(i) 8 (ii) 4 (iii) 10 (iv) 6 (v) 7

2. The	value	of	the	polynomial (−3h2	 +h+5) at 	h=(-1) is

(i) 3 (ii) 2 (iii) 0 (iv) -2 (v) 1

3. The	value	of	the	polynomial (−7w3
	 −5w−5) at 	w=0is

(i) -4 (ii) -5 (iii) -6 (iv) -3 (v) -8

4. The	value	of	the	polynomial (−5e4	 −5e3	 +4e2	 −3e+8) at 	e=1is

(i) 0 (ii) 2 (iii) -1 (iv) -2 (v) -4

5. The	value	of	the	polynomial (−2mn) at 	 l=(-3) ,m=3,n=(-5) 	 is
(i) 27 (ii) 29 (iii) 32 (iv) 31 (v) 30

6. The	value	of	the	polynomial 5c2	 d at 	c=5,d=4,e=(-2) 	 is

(i) 497 (ii) 501 (iii) 499 (iv) 500 (v) 503

7. The	value	of	the	polynomial (−6f−2gh) at 	 f=(-3) ,g=1,h=(-4) 	 is
(i) 27 (ii) 29 (iii) 23 (iv) 26 (v) 25

8. The	value	of	the	polynomial (−7d2	 e
2
	 f

2
	 +3e2	 f ) at 	d=3,e=(-2) , f=4	 is

(i) -3985 (ii) -3986 (iii) -3983 (iv) -3984 (v) -3981

9. The	value	of	the	polynomial (6nop+2np−4op) at 	n=(-4) ,o=(-3) ,p=5	 is
(i) 377 (ii) 381 (iii) 383 (iv) 380 (v) 379

10. The	value	of	the	polynomial (−9a2	 b
2
	 c

2
	 −9a2	 −7ac) at 	a=(-3) ,b=2,c=4	 is

(i) -5180 (ii) -5184 (iii) -5181 (iv) -5182 (v) -5179

11. The	value	of	the	polynomial (−9l+9n−8) at 	 l=(-4) ,m=(-2) ,n=2	 is
(i) 45 (ii) 44 (iii) 47 (iv) 48 (v) 46

12. The	value	of	the	polynomial (3e2	 f
2
	 g

2
	 +6f2	 g

2
	 +5f2	 g) at 	e=1,f=4,g=5	 is

(i) 4000 (ii) 4001 (iii) 3997 (iv) 4003 (v) 3999

13. The	value	of	the	polynomial 6 at 	a=(-2) ,b=(-4) ,c=3	 is
(i) 6 (ii) 4 (iii) 7 (iv) 5 (v) 9



14. The	value	of	the	polynomial 0 at 	q=4,r=0,s=1	 is
(i) 1 (ii) -1 (iii) 0 (iv) -2 (v) 2



 1)	(v)  2)	(v)  3)	(ii)  4)	(iii)  5)	(v)  6)	(iv)
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 13)	(i)  14)	(iii)
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